May/June 2011
Section A:
QUESTION 1
1. Three measures used to measure inequality of distribution of income.
· Lorenz curve 
· Gini  coefficient 
· Quantile ratio

2. Three flows associated with the government in the circular flow model
· Government spending, 
· Taxes 
· Transfer payments

3. Main sources of economic growth viewed from demand side
There has to be an adequate and growing demand for goods and services produced in a country. Main sources are:
· Domestic demand (it is always possible to increase domestic demand by increasing government spending), 
· Exports (international trade is an important factor in economic growth. An increase in exports raises the growth rate and also relieves the balance of payments constraint, 
· Import substitution (another growth strategy linked to BOP is to reduce imports by manufacturing previously imported goods domestically)

4. Define Gross Domestic Product (GDP)
· GDP: is the total value of all final goods and services produced within the boundaries of a country in a particular period (usually one year). Most important barometer of the performance of the economy. Aka GVA – gross value added
· 3 methods of calculating GDP:
· production method (value added)
· expenditure method – (final good and services)
· income method – (incomes of the FOP)

5. Define Inflation
· Inflation is defined as a continuous and considerable rise in prices in general.

6. Name the four lags associated with the implementation of monetary policy.
· Recognition lag – lag between changes in economic activity and recognition or realization that the changes have occurred. 
· The decision lag – ministers and officials from different departments have to meet to discuss matters and this takes time. 
· Implementation lag – once decisions have been made it takes time to implement these decisions. 
· Impact lag – a further period lapses before they actually affect economic behaviour.

7. Name four basic properties an “item” must have in order to serve satisfactorily as money
Those "things" that worked best tended to have four basic characteristics: 
(1) durability, 
(2) divisibility, 
(3) transportability, and 
(4) noncounterfeitability.

8. List four arguments for the trade barriers
· Balance of payments – 
· Dumping – occurs when a firms sells its product in a foreign market at a lower than in the domestic market or at a lower price than in other export markets.
· Export subsidies 
· Infant industries
· Employment
· Government revenue
· National security

Arguments against trade barriers:
· Retaliation by trade partners
· Welfare cost to society
· Inefficiency

9. Explain the difference between a stock variable and a flow variable. Give an example of each
· Stock has no time dimension and can only be measured at a specific moment – i.e. Shopkeeper takes stock of all goods in store at that particular time. (Example: Assets, Wealth, Liabilities)
· Flow has a time dimension and can only be measured over a period. Shopkeeper calculates sales, profit, losses over a period (Example: Income, Profit, Loss)
· Stocks can only change as a result of flows


QUESTION 2
1. Diagram: Illustrate the impact of specific excise tax on cigarettes on equilibrium price and quantity. (Label diagram)

[image: ]
The figure represents the introduction of an excise tax of R1,00 on cigarettes. The equilibrium price per packet before the introduction of the excise tax on cigarettes is R4,00.

· Tax incidence: who really pays the tax 
· When govt impose a specific tax (R4) on cigarette → S shifts up by R4
· Tax is shared by 3 groups of people: 
· Consumer: R12 → R14.40 per packet 
· Supplier: R12 → R10,40 per packet 
· - Since profit of firm is affected → owners / shareholders profits ↓ 
· - Employees suffer : Q ↓ → employment ↓


2. 
Diagram: Illustrate the effect of a decrease in the proportional income tax on the equilibrium level of income in a simple Keynesian model of a closed economy. (Label diagram)
[image: ]



· With Government Spending (G): A1 → A2
· With tax (t): A2 → A3 c(1-t)

3. Diagram: Illustrate the effect of a decrease in productivity on prices and production in the AD-AS model (Label diagram)
[image: ]

4. Diagram: Illustrate how the equilibrium in the money market changes if the level of income in the economy increases. 
[image: ]

5. Diagram: Illustrate the effects of a decrease in the interest rate on equilibrium in the money market.
[image: ]
 
6. Diagram: South African foreign exchange market – What will happen to the exchange rate between the rand and US dollar if SA implements import substitution measures?

7. Diagram and Definition: Experiencing a demand-pull inflation despite the stated objective of the government to achieve price stability:
· Diagram: Clearly indicate any changes to the aggregate demand or aggregate supply, prices and production that might result from the actions taken by the government.
[image: ]
· In your explanation deal with the following:
· The instruments of fiscal policy, how they are applied and what effects they have.
In order to combat demand-pull inflation, authorities apply a restrictive fiscal policy. Restrictive fiscal policy entails a reduction in government spending and/or increase in taxation.

8. Diagram: Given a Keynesian model of an open economy, illustrate the impact of an increase in autonomous imports on the equilibrium level of income.

A = C + I + G + X – Z 

[image: ]

9. Diagram: Use the Phillips curve to illustrate the trade-off between inflation and unemployment
[image: ]

10. 
Diagram: Illustrate how both unemployment and inflation can be decreased at the same time.
[image: ]

11. Diagram: Given the AD-AS model, illustrate the monetary transmission mechanism. Assume an increase in the interest rate.
[image: ]

Monetary transmission mechanism – the way in which changes in the monetary sector are transmitted to the rest of the economy.
· Exogenous – under the control of the monetary authorities
· Endogenous – in the sense being determined by the interaction between the interest rate and the demand for money.




CALCULATIONS

1. Bank Reserve Ratio Required
· = Reserves / Deposits x 100

2. Equilibrium in Keynesian Model
· In the simple Keynesian model, without a government and foreign sector, A = C + I =Y. 
· In the simple Keynesian model, with a government but no foreign sector, A = C + I + G = Y. 
· In the simple Keynesian model, with a government and foreign sector, A = C + I + G + (X - Z) = Y.

3. Calculate Equilibrium Level of Income
· If C = R26 billion and slope of the C curve is 4/5 THEN consumption function is 
· C = R26 Billion + 4/5Y
· I = R10 Billion
At Equilibrium
	Y = A
	Y = C + I
	Y = 26 + 4/5Y + 10
	    = 36 + 4/5Y
Y – 4/5Y = 36
       1/5Y = 36
	 Y = 36 x 5
	 Y = R180 Billion

· Calculation ALSO: Y = α Ā

4. Calculate Multiplier
	 α = 
	    1

	
	1 - c


· Where c = Marginal Propensity to Consume (4/5) 
	α = 
	    1

	
	1 – 4/5

	α = 
	    1

	
	1/5


α =  5

5. Marginal propensity to consume
· C = C + cY

6. Marginal propensity to save
· S = Y – C 
· S = Y – (C +cY) since C = C + cY

7. Value of induced imports at the equilibrium level of income
· Y = A (Equilibrium)
· A = C + I + G + X - Z
· Z = Z +mY (m = marginal propensity to import)
8. Value of net exports at the equilibrium level of income
· X – Z 

9. Give the equation of the total expenditure (Oct/Nov 2012)
· Expenditure = C + I + G

10. Gabriel’s disposable income increases from R2000 to R2500. As a result his saving increases from R300 to R450. Calculate his marginal propensity to consume (Show calcs)
Marginal propensity C = change in consumption C divided by change in income.
C = ΔC + ΔY


QUESTION 4

[image: ]
The original domestic demand and supply curves of T-shirts before international trade are represented by D and S. The world price of T-shirts is R10,00.

1. What is the equilibrium quantity of T-shirts after international trade but without a tariff? Demand intersection at the world price of R10,00 = 1500

2. What is the level of domestic production of T-shirts after international trade but without a tariff? Supply at R10,00 = 500

Assume an import tariff of R5,00 per t-shirt is imposed.
3. How many T-shirts are imported after international trade but with the imposition of the tariff? Tariff increase of R5,00 pushes price to R15,00 which means local production = 750 and demand is 1250 making the imported quantity the difference of 500

QUESTION 6
Given a Keynesian model of an economy without a government and a foreign sector,
1. Illustrate on the following diagram the impact of an increase in investment spending on the equilibrium level of income.
· An increase in investment spending is shown by an upward shift of the A-curve.  Indicate new equilibrium level of income on the A=Y line

[image: ]

2. Explain the impact of the increase in investment spending on the equilibrium level of income. Comment on the size of the change in income relative to the size of the change in investment spending.
· Every rand invested lands in someone’s pocket and gets spent again.
· The ratio between the eventual change in income and the initial investment is called the multiplier. The size of the multiplier depends on the fraction of additional income generated in each round that is spent on the next. The additional amounts become progressively smaller but by the end the total increase in income will be much greater than the initial investment.


SHORT QUESTIONS

1. Name the 3 major flows in the economy – 
· total production, 
· total income 
· total spending. 
2. List 3 basic functions of money – 
· Medium of exchange - Money serves as a lubricant or intermediary to smooth the process of exchange and to make it more efficient. 
· Money as a unit of account – is an agreed measure for stating the prices of goods and services. 
· Money as a store of value – most common for holding wealth is money. It’s convenient and can be used immediately in exchange for other assets. Most liquid form in which wealth can be kept
3. Mention the three broad ways in which government spending can be financed 
· Income from property - Income from Transnet, Telkom, income from forestry, rent, fishing products. 
· Taxes - PAYE, VAT, Excise Tax. 
· Loans - can be obtained from the domestic and international capital markets or from the SARB (to finance budget deficit).
4. is GDP a stock or flow – explain 
· Flow variable as it is measured over a period of time generally a year 
5. distinguish between real and financial transactions
6. define the repo rate and explain how it can be used as an instrument of contractionary monetary policy formation
7. explain the difference between direct taxes and indirect taxes – 
· direct taxes – also called taxes on income and wealth , are levied on persons and organizations such as companies. They include personal income tax , company tax and estate duty. 
· Indirect taxes – also called taxes on goods and services or taxes on products and production are levied on transactions , eg purchase of goods and services and are usually paid by those who consume the goods and services (VAT)
8. the simple Keynesian model assumes amongst other things that prices and wages are given. What are the implications of these 2 assumptions
9. explain the difference between a stock variable and a flow variable - Stock variable – can only be measured at a particular point in time and has no time dimension (wealth, assets, liabilities, capital, population, and balance on savings account). FLOW VARIABLE – can be measured over a period of time (income, profit, loss, investment).
10. distinguish between nominal GDP and real GDP
· Nominal GDP indicates the monetary value of production 
· Real GDP indicates changes in physical output. 

Nominal GDP is calculated: 
· Prices of products for current year x Quantities of the products of current year 
· Real GDP x CPI ÷ 100 

Real GDP is calculated: 
· Prices of products of the previous year x Quantities of the products current year 
· Nominal GDP x 100 ÷ CPI 

11. GDP and GDE
· Gross Domestic Product:	GDP = C + I + G + X – Z
· Gross Domestic Expenditure:	GDE = C + I + G 
· Nett exports = X - Z 
12. distinguish between active balances and passive balances and mention the main determinant of the quantity demanded 
· Active balances = transactions & precautionary motives.
· Passive balance = speculative motive
13. describe the cost of unemployment to the society at large – unlike other factors of production , labour cannot be saved and used later . if labour is not used when it is available it is lost forever. Unemployment is also damaging to the social and political structure. It tends to give rise to crime as well as to demonstrations, riots and other violent forms of unrest. In S.A there appears to be a definite correlation between criminal, social and violence and the level of unemployment. Unemployment can also lead to an overthrow of democratic institutions and processes. 
14. list 3 problems associated with GDP as a measure of total production in the economy
· Non-market production – Cannot estimate the value of activities not sold in the market.
· Unrecorded activity – Drug-trafficking, prostitution, cash transactions.
· Data revisions – Data frequently adjusted as new and better data become available.
· Economic welfare – Unwanted by-products such as pollution, congestion and noise are not taken into account.
15. list 4 main functions of the SARB – 
· formulation and implementation of monetary policy – repo rate tender system main instrument. 
· Service to the government (banker and advisor, custodian of gold and foreign exchange reserves, administration of exchange control. 
· provision of economic and statiscal services. 
· maintaining financial stability – (bank supervision , the national payment system , banker to other banks , banknotes and coins.
16. define monetary policy - Monetary policy can be defined as the measures taken by the monetary authorities to influence the quantity of money or the rate of interest with a view to achieving stable prices, full employment and economic growth.
17. Fiscal Policy
a. Expansionistic fiscal policy: 
· AD-curve shifts to the right (see Unit 8) 
· Government expenditure increase 
· Taxation decreases 
· Budget deficit increases 
· Budget surplus decreases 
b. Contractionary fiscal policy: 
· AD-curve shifts to the left (see Unit 8) 
· Government expenditure decrease 
· Taxation increases 
· Budget deficit decreases 
· Budget surplus increase 
18. name 3 important withdrawals from the circular flow of income and spending:
· Taxes
· Savings
· Imports
19. name the four macroeconomic objectives – 
· external stability , 
· full employment , 
· economic growth , 
· equitable distribution of income and price stability
20. mention 3 methods which are used to estimate GDP – 
· production method (value added), 
· expenditure method – (final good and services), 
· income method – (incomes of the FOP)
21. how does government spending affect the multiplier in the Keynesian model
22. what are the determinants of induced consumption in the Keynesian model of a closed economy with a government sector
23. explain the basic function of a financial intermediary - financial institution acts as intermediary between those who save and those who wish to invest
24. explain what measures can be taken to get rid of cost-push inflation
· To apply an Incomes Policy - economy-wide wage and price controls, most commonly instituted by governments as a response to inflation, and usually below market level.
25. discuss the effect of an increase in sa imports from the USA on the value of the rand on the S.A foreign exchange market – if the demand for dollars increase because of an increase will cause a change in the exchange rate , ceteris paribus. A change in the demand of dollars will be reflected by a shift of the demand cuve to the right and the rand will depreciate against the dollar and therefore the dollar will appreciate against the rand – ceteris paribus
26. name 3 measure used to measure inequality of distribution of income – 
· Lorenz curve ,
· Gini  coefficient ,
· quantile ratio
27. define GDP - GDP is the total value of all final goods and services produced with boundaries of the country in a specific period. Gdp is one of the most important barometers of the performance of the economy.
28. explain why credit cards are not considered as money – credit cards are not a medium of exchange. The card is simply a convenient means of making purchases (by obtaining short term loan from the bank or other financial institute which has issued the card.
29. name four lags associated with the implementation of fiscal and monetary policy - Recognition lag – lag between changes in economic activity and recognition or realization that the changes have occurred. the decision lag – ministers and officials from different departments have to meet to discuss matters and this takes time. implementation lag – once decisions have been made it takes time to implement these decisions. Impact lag – a further period lapses before they actually affect economic behaviour.
30. what are the main sources of economic growth viewed from the demand side  - there has to be an adequate and growing demand for goods and services produced in a country. Main sources are domestic demand (it is always possible to increase domestic demand by increasing government spending) , exports (international trade is an important factor in economic growth. An increase in exports raises the growth rate and also relieves the balance of payments constraint , import subsititution (another growth strategy likned to BOP is to reduce imports by manufacturing previously imported goods domestically)
31. Cost-push inflation: Cost-push inflation is triggered by increases in the cost of production. Increases in production costs push up the price level. 
32. Demand-pull inflation: Demand-pull inflation occurs when the aggregate demand for goods and services increases while the aggregate supply remains unchanged. Demand-pull inflation can be caused by any (or a combination) of the various components of aggregate demand, namely: 
· Increased consumption spending (C) 
· Increased investment spending (I) 
· Increased government spending (G) 
· Increased exports (X) 
33. given a Keynesian model of an economy with a government and a foreign sector. Explain the impact of a decrease in the tax rate on the equilibrium level of income – a decrease in taxes increase the income of households (it increases disposable income) and therefore the consumption of households ( C ) increases. As C is a component of aggregate spending (A) , A will increase leading to an increase in the equilibrium level of income 
34. Full-employment level of income: In the simple Keynesian model, the full-employment level of income is that level of income where all factors of production are used to produce goods and services. A level of less than full-employment is an indication that unemployment exists.
[bookmark: _GoBack]
TYPICAL MCQ
1. Most basic function of money is that it functions as a medium of exchange
2. when inflation is experienced , money loses some of its usefulness as a store of value
3. The repo rate is the interest at which the reserve bank lends to commercial banks.
4. the SARB is responsible for formulating monetary and fiscal policy
5. In terms of the money demand, the interest rate represents the opportunity cost of holding money.
6. Government transaction can exert an influence on the money supply.
7. m1 = notes and coins + demand deposits
8. M3 is the most important comprehensive definition of money.
9. if government finances part of its spending from borrowing from the central bank , it is called inflationary financing
10. tax evasion is illegal
11. personal income tax is S.A is a direct , progressive tax
12. A tax is regressive if the marginal tax rate decreases as income increases.
13. criteria for good tax are neutrality , equity , compliance costs
14. excise taxes are levied on selected products produced locally
15. a specific tariff imposed on the imports of motor vehicles will increase the level of domestic production of motor vehicles
16. The law of relative advantage states that 2 countries will benefit from trade if the opportunity costs of production differ between the 2 countries.
17. One of the reasons for international trade is that all countries do not possess the same factors of production.
18. The trade balance is the difference in the value of S.A merchandise exports plus net gold exports and merchandise imports.
19. a farmer in free state buys a tractor from his neighbor – transaction not recorded in BOP
20. In the simple Keynesian model equilibrium is attained where aggregate demand is equal to aggregate supply.
21. consumption spending  consists of autonomous spending and induced spending
22. if the marginal propensity to save is 1/3 ,the marginal propensity to consume is 2/3
23. in the simple Keynesian model if aggregate demand exceeds aggregate supply production must increase to reach equilibrium 
24. Along the 45 degree line aggregate demand is equal to aggregate supply.
25. according to say’s law supply will create its own demand , at equilibrium there is full employment
26. according to the Keynesian model equilibrium does not necessarily imply full employment
27. if c = 2/3 then the multiplier is = 3
28. taxes decrease the size of the multiplier
29. if aggregate spending is 1200 and aggregate production is 1300 there is unplanned increase in inventories
30. negative net exports will shift the aggregate demand curve downwards
31. if the equilibrium level of income is below the full employment level , full employment can be reached by increasing autonomous consumption
32. a change in marginal propensity to consume will change the size of the multiplier
33. a decrease in the tax rate will increase induced consumption
34. Investment is negatively related to the interest rate.
35. government spending is independent of the level of income
36. an increase in income will increase induced consumption 
37. imports are independent of the level of income
38. The equilibrium level of income is determined by multiplying the multiplier by autonomous aggregate demand.
39. Negative net exports will shift the aggregate demand curve downwards.
40. autonomous aggregate demand – A = C + I + G + ( X – Z)
41. AD – AS model – the general price level and total production of goods and services
42. the AD curve indicates the level of total expenditure at various price levels in the economy
43. in the AD – AS curve model prices are assumed to vary 
44. a decrease in the price of imported crude oil will reduce the costs of production and the AS curve will shift to the right
45. the monetary transmission mechanism starts with a change in the interest rate
46. government spending and taxes are 2 basic instruments of fiscal policy
47. recognition , decision , implementation and impact lags are four types of policy lags
48. a reduction in government spending is an example of contractionary fiscal policy
49. A decrease in the repo rate by the SARB is an example of expansionary monetary policy.
50. a simultaneous increase in the price level and the level of production could be the result of an increase in investment spending
51. inflation is the continuous and considerable increase in prices in general
52. demand-pull inflation can be caused by expansionary monetary and fiscal policy measures
53. a depreciation of SA rand will increase the price of imported goods
54. cost-push inflation is triggered by increases in the cost of production
55. high inflation in SA can damage the countries international competitiveness
56. cost-push inflation leads to higher prices , decreased production and higher unemployment
57. an increase in the aggregate demand for goods and services can reduce cyclical unemployment
58. the costs of unemployment can be reduced through the availability of unemployment benefits and other social welfare programmes
59. An increase in aggregate demand for goods and services can reduce cyclical unemployment.
60. an unemployment steam locomotive driver is a victim of structural unemployment
61. seasonally unemployment – only employed during a specific season (life guard that works during summer)
62. frictionally unemployed – one quits a job in one place to find another job in a different place
63. voluntarily unemployed – not bothered to find a job
64. demand factors is one of the major sources if economic growth
65. when measuring economic growth changes in prices and population should be taken into account
66. economic development and economic growth are both particularly important issues in SA
67. real GDP is obtained by adjusting nominal GDP for inflation
68. GDP per capita is calculated by multiplying GDP by the number of people in the population
69. If real GDP increased by 5% from one year to the next, SA undoubtedly experienced economic growth during this period.
70. a flow variable is measured over specific period 
71. stocks can change as a result of flows
72. in the circular flow of income and spending savings result in a decrease in the volume of the income flow
73. financial institution acts as intermediary between those who save and those who wish to invest
74. provincial government = government
75. macroeconomic objectives = external stability , full employment , economic growth , equitable distribution of income and price stability
76. GDP defined as the value of all final goods and services produced in the domestic economy during a specific period
77. 3 ways of calculating GDP = income , expenditure and production methods 
78. only transactions that represent production of new goods and services are included in the GDP
79. When prices increase nominal GDP increases even if the production of new goods and services does not increase.
80. if nominal GDP increases by 5% GDP at current prices will also increase by 5%
81. BOP = all transactions with the rest of the world are recorded here.
82. The balance of payments is an important indicator of the state of an economy.
83. when constructing the Lorenz curve the cumulative percentage if the population is plotted against the cumulative percentage f income
84. the higher the Gini coefficient the higher the income inequality
85. money serves as a medium of exchange , unit of account and store of value
86. modern bank notes value of exchange is based on confidence
87. banks can create demand deposits by granting credit to their clients in the form of overdraft facilities
88. When person deposits cash in a cheque account there is no immediate change in the quantity of money.
89. The demand for money for speculation purposes is determined by the interest rate.
90. the demand for money is a function of income and the interest rate in general terms the liquidity preference may be expressed as L=f(Y,I )
91. the supply of money is determined by demand for money and the interest rate
92. open market policy – the purchase and sale of financial assets to and from the banks by the SARB
93. the difference between government spending and borrowing is called the budget deficit
94. taxes which distort relative prices are not neutral
95. tax is regressive when everyone pays the same amount of tax
96. the degree to which the burden of a tax can be shifted depends on the price elasticities of demand and supply of the good or services in question
97. the government prefers levying excise taxes on the consumption of goods with a high elasticity of demand
98. the purpose for the introduction of an import tariff is to serve as a source of income to the government
99. a country balance of payments can afford a deficit on the current account if there is a positive balance on the financial account
100. an increase in the supply of dollars in the  South African foreign exchange market can be caused by an increase in the gold prices
101. 4 components of aggregate demand is investment , government expenditure , consumption spending and net exports
102. the AD curve indicates the level of total expenditure at various price levels in the economy
103. if real GDP increases and price level remains stable , it is likely that both aggregate demand and aggregate supply have increased
104. the monetary transmission mechanism explains how changes in the monetary sectors is transmitted to the financial sector
105. recognition lag is the same for fiscal and monetary policy
106. inflation means buying less with your money now than before prices increased
107. purchasing power of a consumer’s income is inversely related with inflation
108. if the inflation rate is lower than the nominal interest rate , it is likely that wealth will be redistributed from the borrower to the lender
109. fiscal dividend – during inflation government realizes increased revenue from taxation
110. stagflation refers to an increase in the general price level and a decrease in the level of output
111. unemployment includes everybody who are willing and able to work but do not have a job
112. improvements in quality of labour can reduce structural unemployment in S.A
113. to combat unemployment steps must be taken to stimulate the demand for labour
114. stricter immigration control could help to combat the unemployment problem in S.A
115. imports and savings represent a withdrawal from the circular flow of income and spending
116. GDP – the total value of all final goods and services produced in a country during a particular period
117. example of GDP – the wages of a foreigner working at a S.A platinum mine
118. gdp can be estimated by calculating the total of all factor incomes
119. an inflation rate is calculated as the percentage change in a price index from one period to another
120. the weights used in the calculation of the consumer price index take account of the relative importance f different goods in the pattern of consumer expenditure
121. the real value of money is measured in terms of what it can purchase
122. a R650 price tag on a pair of shoes is an example of money functioning as a unit of account
123. the repo rate is interest rate at which the reserve bank lends to commercial banks
124. VAT systems important purpose is raising government revenue
125. personal income tax in S.A is a direct,progressive tax
126. the burden of an indirect tax on a good will fall more heavily on the producer when demand for the good is price elastic
127. in order for a nation to gain from trade it must have a relative advantage in the production of a particular product
128. an expected decline of the value of the rand relative to the dollar is likely to increase the demand for US dollar
129. if the rand depreciates against the dollar the balance on the current account of S.A balance of payments will improve
130. autonomous investment menas that investment is independent of the level of income
131. if aggregate spending exceeds aggregate production in the simple Keynesian model unplanned decrease in inventories will occur
132. a drecrease in the budget surplus will lead to an increase in the level of economic activity
133. in the simple Keynesian model induced consumption is a function of the income level
134. in the simple Keynesian model with a government and foreign sector government spending is autonomous because it is essentially a political issue
135. the assumptions of the AD-As model imply that the model can be used to study monetary policy
136. in the AD-AS model a decrease in investment will result in a decrease in the price level
137. cost push inflation can be reduced by increasing productivity
138. stagflation refers to an increase in the price level accompanied by decreases in real output and employment
139. the government can worsen inflationary situation if it borrows more from the reserve bank to finance its expenditure
140. debtors tend to benefit during an inflationary period since the real value of their debt tends to fall
141. cyclical employment refers to employment which occurs during recessions
142. the opportunity cost involved when a country takes fiscal policy measures to stimulate economic growth is an increase in the inflation rate
143. an expansionary fiscal policy would be most likely to reduce unemployment of the marginal propensity to save is low
144. a business cycle refers to a recurring sequence of changes in business activity
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